From SMOG 3.3 (f):

During annual testing, the total current transformer burden shall be checked by the addition of a known burden to determine that the specified burden capability of the current transformer is not exceeded

Add to the end of 3.3(f)

ERCOT may waive the requirement for the burden check, upon receipt of written information from the TDSP that provides the specific reason(s) why this requirement was not met and a statement that there have been no wiring changes to the metering installation since the last site certification.
